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The question paper has 30 questions in all. All questions are compulsory.
Marks for each question are indicated against the question.

Questions from serial number 1 to 9 are Multiple Choice Questions.

Each question carries 1 mark.

Questions from serial number 10 to 21 are 3 marks questions.

Answers of these questions should not exceed 80 words each.

Questions from serial number 22 to 29 are 5 marks questions.

Answers of these questions should not exceed 120 words each.

Question number 30 is a map question of 5§ marks (2 marks from History

and 3 marks from Geography).

Attach the filled up map inside your answer-book.



1. fr=fafeas & 9 e faw &8 2 1
(A) =i Icdal W @d i T8 g
(B) iRk dfa-faret w @4 i 78 gty
(C) gmfd, S8 g, @l 4 @9 6l T8 gt
(D) = 9HE W @9 H g G

Which one of the following refers to investment ?
(A) The money spent on religious ceremonies
(B) The money spent on social customs

(C) The money spent to buy assets such as land

(D) The money spent on household goods

2. UNd 9R g Hfafad § § HH-91 ST 3Tagek 2005 H @] o m 2 1
(A) GrIgT W@ 1 AfepR rffem
(B) e i =1 siferepr erfufem
(C)  Iuvihl TRegur fef=m
(D) I 9 1 AfURR Ateafm

Which one of the following laws was enacted by the Government of India
in October 2005 ?

(A)  The Right to Property Act
(B)  The Right to Education Act
(C) The Consumer Protection Act

(D)  The Right to Information Act
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3. WA & Feffgd ¥ § SH-81 904 99 Te, T ¥ o o gifaa aoe
27

(A)  gfeg

(B) UNEH

() Tosmameem
(D)  ARINA

Which one of the following is the deepest, land-locked and well-protected
port of India ?

(A) Haldia
(B)  Paradip
(C)  Vishakhapatnam

(D)  Tuticorin

4. 1 1815 JUU ¥ TIMUG Slgardr Ime aeamd fhd Jehr i off ? ffafaa
¥/ I9h I gMT

A frgw

(B) Qrehdlteh
(C) FHoH-fa
(D) SARFEESR

rera
B 95 9% g g Wiegead FEmd & Fefafied § 9 &b gRaen 9 2

(A)  TSHHAR A
(B) WM I =S

© wF b=

(D) ot fr=ment
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What type of conservative regimes were set up in 1815 in Europe ?
Choose the appropriate answer from the following :

(A)  Autocractic
(B) Democratic
(C)  Aristocratic
(D)  Dictatorial
OR

Who, among the following, was the head of the Revolutionary Society
formed by Phan Boi Chau ?

(A)  Prince Cuong De
(B) Phan Boi Chau
(C) Phan Chu Trinh

(D) Liang Qichao

frafafea wRdE TgE g ifeeHl § 9 frad fearer 1929 # Of T

1 T 1 = 9§ 94 form w2 1
(A) g Al

(B) &R HAfaaw™

(C)  horehtll AT

(D) AFTY SATATH

In which one of the following Indian National Congress Sessions was the

demand of ‘Purna Swaraj’ formalised in December 1929 ?
(A) Madras Session

(B) Lahore Session

(C)  Calcutta Session

(D) Nagpur Session
5 P.T.O.



6. ¥ 2006 ¥ sifcAfean ¥ f=feifaa Teifae wféai ®§ @ sE- <1 § 118 2

(A)  HEHE Tl
(B) Tafecterd arel
(C) Hrforee arel
(D) wHeded qrel

Which one of the following political parties came to power in Bolivia in
2006 ?

(A) The Communist Party
(B)  The Republican Party
(C)  The Socialist Party

(D)  The Conservative Party

[ N N aN

7. fmafafea & @ sH-a1 foselt % qme S TuEdr S91C W@ 9Tt =51 g ?

(A) AE.TH.3.

(B)  3T5.TH.3E.
(C) ElaHh
(D) UHRh

Which one of the following is the certification maintained for
standardisation of electrical goods ?

(A ISO
(B) ISI
(C) Hallmark

(D) Agmark
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ghTee fava § fFafafad § 9 SR 1 $H-91 9 999 371 AIhitd & ? 1

(A)  QHTIITE
(B) A

() af= wmeH
(D) |RAA

Which one of the following is the most popular form of government in the

contemporary world ?
(A)  Dictatorship
(B) Monarchy

(C) Military Rule

(D) Democracy

frafafea @ @ o Tt toifas g B 2 1
(A)  FHNSEE 9
(B) TER T <
(C) UYH e A

(D) =g GAN i

Which one of the following is a ‘National Political Party’ ?
(A) Samajwadi Party

(B) Rashtriya Janata Dal

(C) Rashtriya Lok Dal

(D) Bahujan Samaj Party
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10.

11.

12.

13.

14.

15.
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3SR Higd T8 HIC, 6 o frm yer faemm@ & fou 9gd & #gwqul i
FhNIcH fHeh! fvmar 7 | 3

Explain with an example, how credit plays a vital and positive role for
development.

ATehdieh TLhR hl ITER] TR & ®9 § fohd THR SIHT J1dT & 2 I8N
gfgd Tom Fifs | 3x1=3

How is democractic government known as responsive government ?

Explain with examples.

ST o TR T8 & gH @ Swon fierdt g 2 fopedl i qedt ol T
I, ST g4 sod Hig wehd ¢ | 3x1=3

What inspiration do we get from Bolivia’s popular struggle ? Explain any

three values that we can learn from it.

el A8 H S T o Feal bl o [T ITERIT fohegl 1 I ol TG
HIT | 3x1=3

Explain any three factors responsible for the concentration of jute
industry in Hugli basin.

ST FHIGHT 1 &1 S H fiehd hINT | Tk o % ql-al 3QTE Giig | 1+2=3

Classify energy resources into two categories. Give two examples of each
category.

ST T % 2 o § 3 ok 6 e S, f T i

Tt Tt fafamer oMt foerma  o1aes AHA 9 | 3x1=3
YT
raam ° foeneff Sufasft TR & 39 W & favg frg gor @g, S
Torqrft S Sl Hthe Tiw eRET % ek JrEar 1 e | Ty il | 3
8



Explain the conditions that were viewed as obstacles to the economic
exchange and growth by the new commercial classes during the

nineteenth century in Europe.
OR

How did students in Vietnam fight against the colonial government’s
efforts to prevent Vietnamese from qualifying for ‘white collar jobs’ ?

Explain.

16. Tl @ Usd Tifaes gl o AT 3ok @l o @y fafau | 1?11:3

2
Name any three ‘National Political Parties’ along with their symbols.

17. YEdTfed Taie Uee, 1919 & fagg mefsh 7 Uyeadt geame I & o1 oy
w1 fohan 2 Ty il | 3

Why did Gandhiji decide to launch a nationwide Satyagraha against the
proposed Rowlatt Act, 1919 ? Explain.

18. U IET <l g&F famwarsti 1 quik i | 3

Describe the main features of the ‘Salt March’.

19. FgUSE AT 3199 IcaTal 1 fhH TehR THR L T&l 8 ? Il Higd ¥

T | 3x1=3

How are Multinational Corporations spreading their products ? Explain
with examples.
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20. 3UMRT Famor gfshan forg g SIfed, Gt 3R aa-a1e 8 @l 8 2 T
i | 3

How is the consumer redressal process becoming cumbersome, expensive
and time-consuming ? Explain.

21. U9 UNGET o G199 < o i TR & fore qd-srafera =1 § 2 ww Hifu |
3x1=3

Why are efficient means of transport pre-requisites for the fast

development of the country ? Explain.

22. SR # w3t fafemt <6 stavaesar = gidt 8 2 WE hifvu | 5

Why are rules and regulations required in the market-place ? Explain.

23. Tafvre SR, &1 @1 HIWIST & Hreg STO-3Te SN + |THfgeh TI-IH
0Ta hy faiaa foram 2 3gren |fgd wase HIfT | 5x1=5

How did people belonging to different communities, regions or languages
develop a sense of collective belonging ? Explain with examples.

24, IR0 IUMTRIST o TY-TTY IcqTehl o AT off TwepTdt T & |7 39 oA
i 4fY 3T 3eren afgd i | 5x1=5

“Globalisation has been advantageous to consumers as well as to

producers.” Support the statement with suitable examples.

25. 1815 % WG Il 4 U % &gd & T § 30 fo=mi &1 o TR

TER foRaT ? 3IETEN |fgd 8 HINT | 5x1=5
AT

foaam o giffer Wgl 9 IUMAGIE % fog foaR Io@ % H fRE TR

HEEqUl HehT TS, 3eet0n dfga T8 HIT | 5x1=5
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How had revolutionaries spread their ideas in many European States

after 1815 ? Explain with examples.
OR

Explain, with examples, how religious groups played an important role in

the development of anti-colonial feelings in Vietnam.

26. YN U TARIUIATT FHl o TETEAT & 39N hI 3 TIThdl =01 & 2 hig
YTe S0 T iU | 5x1=5

Why is there a pressing need for using renewable energy sources in

India ? Explain any five reasons.

27. Alhdieh I fohH YehR 37eh T8 o GMISeh fIHTSHl sl GYTeld! & 2

3CTEUT Afgd Tase kiU | 5x1=5
How do democracies accommodate various social divisions ? Explain with
examples.

28. ‘U W % FAUPH IR hI WA I8k (A 99T I g & | 39 HeH
st gfE I9gE 3grewn dfgd HifT | 5x1=5

“Advancement of international trade of a country is an index to its

prosperity.” Support the statement with suitable examples.

29. “TRTT 100 WA YBA AT % H® B qu H Tl % woHifoR g o4 | I
et < 21 o UH €, el UsHifash 3ot T8l & |7 39 e hl T HIfT | 5

“About hundred years ago there were few countries that had hardly any
political party. Now there are few countries that do not have political

parties.” Examine this statement.
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30. (30.1) T AYU A IR B, HRA % TSIk W@I-AHH (I8 15 W), H 3Afehd
fpu Tu € | = Ao e SR S HERaT ¥ qgeEg
3R 3eh |&I W, AEREE | @i T8 el w fakav 2x1=2

A, 9% TIM T 1927 § VR TE HiE 1 AREIE g3 o |
B. 9% M S el il Gl B oA A o Ao 3 greiad

2|
(30.2) famferfga wtermil sl wra & &t TorHifos @AMt W SwRs fEl
¥ fewrsy 3R 3 W fafe 3x1=3

(i) T — 3vifeeh St G
(ii) TShell — AR IR TET T
(iii) IS — TIG FHT T
(30.1) Two features A and B are marked in the political outline map of
India (on page 15). Identify these features with the help of the

following information and write their correct names on the lines
marked in the map :

A. The place where the Indian National Congress Session
was held in 1927.

B. The place which is associated with the movement of Indigo
Planters.

(30.2) On the same political outline map of India, locate and label the
following with appropriate symbols :
(i) Narora — a nuclear power plant
(i1)) Rourkela — an iron and steel plant

(iii) Kandla — a major sea port

32/2 12



Fie:  [HEliiga o7 saa GIREI ahieniaal & [07q 397 G891 30 @ €U W8 -
Note: The following questions are for the Blind Candidates only, in lieu of
Q. No. 30 :

(30.1) 39 TIH HT A0 FA3¢ JF&1 TR 1920 H WA TP HIUH H
HIYETA g3 o |

(30.2) 3T TAM T A9 FAIST &l A1 bl Wdl L a1 [RAMT T AT
TREY g o |

(30.3) <RI 3UIfIeh SHolt HIF fory U= | feora 8 2
(30.4) TSTeheAl AIGT 3N 30410 937 fopm T=u 1 foorq 2 2

(30.5) 3T TSI T W FAEY, &l higell Y I a7 | 5x1=5

(30.1) Name the place where the Indian National Congress Session
was held in September 1920.

(30.2) Name the place where the movement of Indigo Planters was
started.

(30.3) In which State is Narora nuclear power plant located ?
(30.4) In which State is Rourkela iron and steel plant located ?

(30.5) Name the State where Kandla sea port is located.
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I E. 30.1, 30.2 & foU

For question no. 30.1, 30.2

Outline Map of India (Political)

WRA ST {W@T-AH T (T )
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